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We learned; from the wall of his pit - IR 112 PNIoN

Overview

The mwn states that one should not dig a pit near his friend’s =13, unless he distances
his pit from his friends wall three 25w, The X3 asked why does he begin by
mentioning 712 and concluding by saying a wall. »2X (or 777 1) answered that the
mwn means from the wall of the 712. Our N©0N explains the meaning of this answer.
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This 12 2n>» means that the second person must distance himself not from the
cavity (the interior) of his friend’s 912, but rather from the wall which the =12

has, which the first person allowed space for when he dug his 912 -
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And from this statement of >'' (that 1°1w 1712 Pn15n) the X3 later infers that it
is forbidden to dig a pit adjacent to the border, since the first one was required
to leave space for a wall -
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And the X713 challenges %2R from this inference -
- 1972 S9N UM 1D 19 ONT 519539 IR 19 DN KON 31D) DN TWAN NY “NHYM)

So now (after we answered 11°10 1712 ndn) the text cannot read >''NRR “anv»'
"Y12% o, for then it would mean that he has to distance himself from the %*n
M2, when in truth he needs to distance himself from 1112 5m> —

' The second person obviously cannot dig on his neighbor’s property. We are saying that he cannot have the
perimeter of his 712 within three 2°’ndv of his neighbor’s property. The space between the boundary line separating
these two people and the outside perimeter of the first person’s 713, that space is called "2 Pm3'". If the m1wn would
have said 11121 °1777 2"XX, we would assume that it means the cavity of 212 # 1, so if the perimeter of 112 # 1 is three
onov from the boundary, the second person would be permitted to have the perimeter of 112 #2 right by the border.
Therefore the mwn states 12 2mon that he must distance himself three 0°ndw from the border (regardless how far
away M2 # 1 is). M2 %M> is understood to mean the area between the perimeter of 212 # 1 and the property line.

* See later on this T1y.

3 »ax maintains (shortly) that one may dig his M2 as close as possible to his boundary line (7210). The X723
challenges 2R, since (»2x and) a7 " explain the 71wn to mean 12 PMdx, indicating that (even) the first person
was not 7210 his 112 to the border, but rather he had a 7m> (a space between the outer perimeter of his M2 and the
border), this proves that even the first person who digs a pit, cannot be 720, but rather must leave over some space
for 12 %no.

* We are now saying according to n1o10 that 1172» would mean from the cavity of the <13, and 1M2 Yn19» means from
the wall of the M2 (the boundary, see footnote # 1).

> This is how 021 7"72 *"wA is 0. See previous g 7"7 Moo (TIE footnote # 2). Moo is saying that once we
answered that 11°1w 1772 2n1on, we can no longer ask 1712» 121 a7, for that would be misleading, as Mo goes on
to explain.
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Mmoo addresses s™"wA rejoinder to MdOIN question:
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And this which >"'w9 explained that if the /mw» would teach yma», ‘I would

have known that it means 112 ®n12%, but not 12 %5r -
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For if by 12 the m1wn means M2 9, it would turn out that the second person

need not recess into his property at all, etc.’; the reading of his text forced >"vA

to say so -
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However s""v1 explanation does not appear to be correct, for if the 7iwn would
have taught y112», we would have assumed that it means 12 %>, and it is

permitted to be 972 to the border -
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And additionally if the first one distanced his 712, on his own, three 2°5v or

more from the boundary -
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We would have assumed that the second one can be 9210 up to the border -
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So therefore it is necessary for the miwn to teach '"ono»', according to 837, in

order to inform us that it is forbidden Tmo> -
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And according to »°2x it is necessary to state 1712 2Man to teach us that a distance
of six 22w is required between the two n1m2 —

Moo reconsiders (somewhat):
= ANT RDUN 79991 NDI)N AW»Y W 1N

However we can justify the 80993 of >"w9, and the X2 asks "an 121 0oy,

R R o

"1f 1m # 1 was removed three 2mdY from the border, M2 # 2 can be at the border, so he is not 17w 91n% o13. The
expression P 11777 2"XX indicates that 712 # 2 cannot be on the property line.

¥ In s""21 text the question of *I"71 was written after the answer 11°1% 12 n2n, therefore he needs to explain that
even if the 71wn would have said 17127 we would know that it means 1712 20190.

? See footnote # 3 that we derive from the 73w» which states Y12 n12n that even the first person must leave space (a
5nd) between his 112 and the property line. If it would not have stated 1712 70197, but rather 11273, we would assume
that it means 1712 521n, and we would not know that even the first person is 7107 710K.

' He is still three o>nov distant from the 2137 95r.

' This means that even the first person is 710 0K (see footnote # 9) according to 821 (see shortly in our X53).

12 5:9% maintains that it is T1mo? 1mn (under certain conditions); why does it state 1712 7015, why not 17125,

' Even if the first person was 7m0 (which is permitted according to *»aX), the second person must distance the 1712 59
from the 12 %51 # 1 a distance of six 2°19v (so each M2 has a M3 of three o°ndw).
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according to 2R (who maintains 7207 1) -
:09n90 Ay ¥199a1m 95091 19 ON NN 2351991 ¥ NYH 71T NIINT

For we are discussing his view, so therefore the X713 can ask P97 2''RR 1nvH7
six 2'5v from his friend’s =1a.

Summary
Once we interpret 7Mon to mean 12 2M>d» and it teaches us that 0% MOXK, it is

understood that the X313 cannot ask 17127 *1n°9, since we would not know that 210X
Tnob. However according to »aX it may be possible to ask 121 °1n°1 (but six 2°m19v).

Thinking it over

When n501n writes 2190 AwWW 17121 P00 3"KK, does he mean that the 71wn should
state 2’9V "1 (in which case it is not at all like >"w2 n07°3), or does N1BOIN mean
something different?"’

14599x is the one who answered (according to one 1Ww?) that 111w 112 2non, and *>aX maintains that 707 NN, so we
do not need the 1112 2n1on to teach us that 71m0% MoX (for according to »2aX it is 707 NM); the X3 therefore
rightfully asks let it state that he has to distance six 17121 o°190..

' This means 127 9omn.

' This is not like >"w1 no73 in the 71wn; of three ondv. See “Thinking it over’.

7 See X"waam 2" mn.
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